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I. Torque
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A. The rotational equivalent of force is ‘\/O CO'IEJ\QJ . Its symbol is
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B. Torque = lever arm (r) x perpendicular force (F ).
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C. When 6 = 90°, (‘y/:rﬂi — I‘i\
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Wheno=0°, V7 =) ;F

Torque is a maximum when 6 = q@




II. Rotational Equilibrium

A. Inrotational equilibrium, > 7 = O

Tn other words, the clockwise torques = the counterclockwise Torques

qvcw = qvccw

B. Examples of rotational equilibrium: @ QKQ@C@%\@%CC{D\QS
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4. Find the force needed to hold the 5.0-meter beam that weighs 500 N level.
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5. Find the force needed to hold the same beam level with the addition of a
hanging weight.
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